

2019-2020

$$v t_n = a + (n-1)d \rightarrow a + (n-1)d \rightarrow (1+n)$$

$$t_n = \underbrace{\varepsilon_0, \dots, \varepsilon_{n-1}}_{\text{rest } Y^k} \Rightarrow e^{it_n + iY} = e^{iY}$$

$$5 = \frac{1}{2} (2, 1, 0) \rightarrow \frac{1}{2} (2, 1, 0) = 1$$

$$\frac{30}{1} \quad 11 \quad 2 \quad + \quad 2 \quad 2 \quad \times \quad 4 \quad = \quad 22 \quad 2 \quad \uparrow \quad 2 \quad = \quad \sqrt{\quad} \quad 4 \quad \times \quad 1.$$

[illegible]

$$1 + \sqrt{r}, r, r - \sqrt{r}, \frac{r-1}{r+1}, \frac{r-1}{r+1} \sqrt{r}$$

$$t_{ra} = t_{rv} + d \quad \rightarrow \quad t_{ra} - t_{rv} = \frac{\sqrt{x(1-\sqrt{v})}}{v - \sqrt{v}}$$

$$a_n = a, \quad r \times r \Delta, \quad \Delta p = p \times \Delta \Rightarrow \Delta \left(\frac{p}{r} \right) = \Delta \left(\frac{1}{r} \right) \times p$$

[illegible]

$$C_2 \times C_2 \times C_2$$

$$f = 2\pi + 1$$

$$b_n = x, r, y$$

$$\frac{1}{2} \cdot \frac{1}{2} = \frac{1}{4}$$

$$x + y = z$$

$$x+y = \varepsilon$$

$$x+y = -1$$

$$\frac{r^2 = r^2}{r^2 = 1, \quad r^2 = r^2}$$

$$y_{n-1}, y_n, \dots, y_{n-1} = y_n + \epsilon = y_n$$

$$w_3 = 2$$

$$d_1 \times \frac{1}{2} = 3 \frac{1}{2}$$

$$a_1 = -\frac{1}{2}, \quad a_n = -\frac{1}{2} + (n-1) = n - \frac{3}{2}$$

$$a_n = r, s, t, u, v, w, x, y, z \quad a_{n+1} = r \times x + 1 = \underline{\underline{z}}$$

$$b_n = r, s, t, u, v, w, x, y, z \quad b_{n+1} = r \times r - 1 = \underline{\underline{a}}$$

$$a, b, c, d, e, f, g, h, i, j, k, l, m, n, o, p, q, r, s, t, u, v, w, x, y, z$$

$$s_{n-1} \leq \epsilon \quad n \leq V$$

جوابی است

$$a_1 + a_1 + d + a_1 + r d = r_1 \quad r a_1 + r d = r_1$$

$$a_1 + d = V$$

$$a_1 + a_1 + r d + a_1 + \epsilon d = 1. a$$

$$r a_1 + s d = 1. a$$

$$a_1 + d = V$$

$$a_1 + r d = r a$$

$$a_1 + r d = r a$$

$$\underline{d = r a} \quad a_1 = -r_1$$

$$\cancel{a_1 + r d} - \cancel{a_1} \cdot d + a_1 = \frac{a_1 + d}{a_1} = \frac{V}{r} = \underline{\underline{\frac{-1}{r}}}$$

$$a_1 + a_1 + d + a_1 + r_d = 12$$

$$r_d + r_d = 12$$

-1

$$a_1 + r_d + a_1 + \varepsilon_d = r_d$$

$$a_1 + r_d = d$$

$$a_1 = d - d$$

$$r_d + v_d = r_d$$

$$r_x(d - d) + v_d = r_d$$

$$1.1 - r + v_d = r_d$$

$$d = 12 \quad d = r \quad a_1 = r$$

$$a_1 = r + q \times r = \boxed{r q}$$

$$\frac{1}{r} (a_1 + a_v) = q \left(\frac{v}{p} (a_1 + a_v) \right)$$

$$a_1 + a_p = r a_1 + r a_p$$

$$a_1 + a_1 + 1d = r a_1 + r a_1 + d \Rightarrow r a_1 = 2d \Rightarrow d = \frac{r a_1}{2}$$

$$\frac{a_v}{a_v} = \frac{a_1 + 19d}{a_1 + d} = \frac{r a_1}{1 r a_1} = r$$

$$\frac{11}{a_1 + r d = r d \Rightarrow r d = r e \Rightarrow d = e \quad t_e = a_1 + r d = 1 + 1 + r = r + 1_0$$

$$b_n = r_n, \quad b_e = r r \rightarrow b.e = b(1 + (n-1)d) = r r = r n + r d$$

$$r d = -1_d$$

$$d = \frac{b - a}{n+1} = \frac{1 r - r n}{n+1} \Rightarrow d = -\frac{r d}{k+1} \Rightarrow k+1 = d \quad \boxed{k = e}$$

$$r = 1, \quad r n = 1_d$$